{ Hanwha SCIENCE CHALLENGE

LHE 7|12= o x|
@ Hanwha

OB




1.CH3| 7H2

{& Hanwha SCIENCE CHALLENGE

U =t 29

0|2 eyl QN UE mEAE

| SO

st $9 L2




1.CH3| 7HR2

| =2 X

. % TP ORI

eaier) for the Adva

ZAHIEALS5H

() eersgn () @arsyzia () srepyo
() erarmean $3H 0N




1.CH3| 7H2

{& Hanwha SCIENCE CHALLENGE

e 2011A 13| A|RfC 2 2015E 55| CH3| 7]

o 13/2E| 45|7}K| & 2,995E! (6,0000{Z) ZI7}
O 2| ot 28004 71 <t =7}

o 87%! 177 MtuL




S

{nﬂ “Saving The Earth”

- O] ez ) tltOISa EEARS)




20| &7} 7ks /st
=l TA4240[0f0F B/




4. CH 2| TA| 27

[3.16~4.30][5.1~5.15] [6.13] [6.27] [8.20~8.21]1[128 &]

—® *— ® : *—

é
22101 F :
Emox) 0 °
1X} Ol A &IAL _
(MZAIAD é
2K} O] A &AL
(B4 AIAY ¢
=MoT
(715 A R 2




5. CH3| i LIS

® 2z01FA

- =T
EE
« 2015 38 162 ~ 42 302

A
H

- CHEIEHO|X| 2221 T4
- 3121712) > HTABIN CHRRE — HTAEIN Xk

— ShE FEAM Gt 2t S MIE
AR B, TRRED TS| RSN, GG, ST, oAz

@ 11X} Oof[MAAL
g3
* 20154 58 1Y ~ 584 15

MAbee

=2l A= 100 M (CH=lZH|O|X| &AL Z2[X} A | E 2E)
* AR E 2 20 MRV I T E AR E T
« Z0MUEH :2015E 52 20 (EH0[X| SX| K 7HE HE)




2N LG SN,

U/ FA

H6E 13

* 2015




5. CH=| M5 LHE

 EE 2N BRI 7 E LA}
+ HSC 7|4 ALK} B b
+ ALY 2 Th3| =M OT ZISH

* =24 A & QL & A EEAIA




5. CH3| i LIS

(o)
| g

* 201514 821 202! ~ 212
K= AL HARRE, 7 |5 At

OFStE / A70|A FO]/ MBMA U ER
A




2. 4£H|0|A O]







|

—-=
—_

o

Chst &fst= 4,000k

EAF CHEEO |AFAL

=

=
o

o

El| C}
a0 o

2

-
—

1QI= 2008k
KT HL

[ S=HI2)
M ESON =)

=
5t

o
T |

A

s

(@)

s13
of

(

W'=300
D PN L=mMINFAS

=
o

| 20
gl

aH 5
d
RIS X H 85 MR

7|

Ik
alo
<

1%
[1E SIAL

(5

ots
(=3

5t

SRHOA

S
ul
<0
<

<0
oL

A
e




-2015I—=| 128 = (2F 5H17Q)
| Z7FcHA
1541 T3] 244 01 & 24X 10

- 201413 SHQIEM AFRI (2012~ 2013 S
St} &MCEAXH AZDLE AI-%"’& BELL &i114




